

Calculus AB

2-4

Chain Rule

Nov 7-10:33 AM

Chain Rule-

$$f(x) = g(h(x))$$

$$y = \sin(x^3)$$
$$\frac{dy}{dx} = \cos(x^3) \cdot 3x^2$$

$$f'(x) = g'(h(x)) \cdot h'(x) = 3x^2 \cos(x^3)$$

$$f(x) = a(b(c(x)))$$

$$f'(x) = a'(b(c(x))) \cdot b'(c(x)) \cdot c'(x)$$

Nov 7-10:36 AM

Find the derivative of the function. (pg 133)

$$7) y = (2x - 7)^3$$

$$f(x) = g(h(x))$$

$$y = (2x - 7)^3$$

$$h(x) = 2x - 7$$

$$\frac{dy}{dx} = 3(2x - 7)^2 \cdot 2$$

$$g(x) = x^3$$

$$= 6(2x - 7)^2$$

$$1 \quad 3 \quad 3 \quad 1$$
$$8x^3 - 3(4x^2)(7) + 3(2x)(7)^2 - 7^3$$

Nov 7-10:39 AM

$$15) y = \sqrt[3]{9x^2 + 4}$$

$$f(x) = g(h(x))$$

$$y = \sqrt[3]{9x^2 + 4} = (9x^2 + 4)^{\frac{1}{3}}$$

$$y' = \frac{1}{3}(9x^2 + 4)^{-\frac{2}{3}} \cdot 18x$$

$$y' = \frac{6x}{\sqrt[3]{(9x^2 + 4)^2}}$$

Nov 7-10:41 AM

$$25) f(x) = x^2(x-2)^4$$

$$F(x) = x^2(x-2)^4$$

$$F'(x) = 2x(x-2)^4 + x^2 \cdot 4(x-2)^3(1)$$

$$= 2x(x-2)^4 + 4x^2(x-2)^3$$

$$= 2x(x-2)^3 [(x-2) + 2x]$$

$$= 2x(3x-2)(x-2)^3$$

Nov 7-10:41 AM

$$*) f(x) = \sin(2x) \sqrt{x^3 + 7x - 5}$$

chain chain
product
rule

$$F'(x) = 2 \cos(2x) (x^3 + 7x - 5)^{\frac{1}{2}} + \sin(2x) \cdot \frac{1}{2} (x^3 + 7x - 5)^{-\frac{1}{2}} (3x^2 + 7)$$

deriu 1st x 2nd 1st x deriu. 2nd

$$\frac{2\sqrt{x^3+7x-5}}{2\sqrt{x^3+7x-5}} = 2 \cos 2x \sqrt{x^3+7x-5} + \frac{\sin(2x)(3x^2+7)}{2\sqrt{x^3+7x-5}}$$

$$= \frac{4 \cos 2x (x^3+7x-5) + \sin 2x (3x^2+7)}{2\sqrt{x^3+7x-5}}$$

Nov 3-7:45 AM

$$29) y = \frac{x}{\sqrt{x^2 + 1}} \quad x(x^2 + 1)^{\frac{1}{2}}$$

$$\frac{dy}{dx} = \frac{1 \cdot \sqrt{x^2 + 1} - x \cdot \frac{1}{2}(x^2 + 1)^{-\frac{1}{2}}(2x)}{(\sqrt{x^2 + 1})^2}$$

$$= \frac{\frac{\sqrt{x^2 + 1}}{\sqrt{x^2 + 1}} - \frac{2x^2}{2\sqrt{x^2 + 1}}}{x^2 + 1} = \frac{\cancel{x^2 + 1} - \cancel{x^2}}{(x^2 + 1)\sqrt{x^2 + 1}}$$

$$\frac{1}{\sqrt{(x^2 + 1)^3}}$$

Nov 7-10:42 AM

Assignment

Pg. 133
8-34 even

Nov 3-7:41 AM